		ARI	KANSAS STATE	HIGHWAY AND TRA TABULATI		DEPARTMENT		
		DESCRIPTION:		TADULATI			Fo	orm P-359 Rev. 6-23-2008
Supply Con	tract fo	r furnishing Adopt-A-Highwa	y Safety Vest	BID NO.:	H-12-007P		DATE OPENED:	8/2/2011
from Date of	of Awar	d thru June 30, 2012, with ar	n option to					
				FOR	Sta	touido		1 of 4
renew.	/FRY·	within 45 days ARO		FUD.	Sta	atewide	PAGE.	1 of 4
	<u></u>		Lohmann & Raus	scher, Inc.	Stroud Safety Ap	parel	TCI Industrial Supply	
			6001 SW Sixth A		414 West 4th S		390 Oser Ave.	
			Topeka, KS 6661	15	Stroud, OK 7407	9	Hauppauge, NY	11788
			800-279-7711 G	ary Piel	888-341-5831 Err	nie Bryant	631-231-1515 Mark Koszyk	
		ALL OR NONE:		XXX		XXX		XXX
		BIDDING:						
ITEM NO.	QTY.		UNIT	EXTENSION	UNIT	EXTENSION	UNIT	EXTENSION
1.	25	Small	3.95	98.75	6.23	155.75	6.58	164.50
2.	25	Medium	3.95	98.75	6.23	155.75	6.58	164.50
3.	25	Large	3.95	98.75	6.23	155.75	6.58	164.50
4.	25	X-Large	3.95	98.75	6.23	155.75	6.58	164.50
5.	25	XX-Large	3.95	98.75	6.23	155.75	6.58	164.50
6.	25	XXX-Large	3.95	98.75	6.54	163.50	6.89	172.25
7.	25	XXXX-Large	3.95	98.75	6.54	163.50	6.89	172.25
					•	riod of July 1, 2012	,	
					Renewed for period of July 1, 2013 thru June 30, 2014			
			Renewed for period of July 1, 2014 thru June 30, 2015				15	
			Initial Order - 60	itial Order - 60 Days ARO				
TOTAL:				691.25		1,105.75		1,167.00

AWARDED BY:	Purchasing Committee	DATE:	9/2/2011	CARD:	10-03	
AWARDED TO:	Lohmann & Rauscher, Inc.	ITEM(S):	Complete Bid	_		
		ITEM(S):		_		

		AR	KANSAS STATE	HIGHWAY AND TRA TABULATI		DEPARTMENT		
		DESCRIPTION:		TABOLATI			Fo	rm P-359 Rev. 6-23-2008
Supply Con	tract fo	r furnishing Adopt-A-Highwa	y Safety Vest	BID NO.:	H-12-007P		DATE OPENED:	8/2/2011
from Date of	of Awar	d thru June 30, 2012, with ar	n option to					
renew.			•	FOB:	Sta	itewide	PAGE:	2 of 4
DELI	/ERY:	within 45 days ARO					-	
			Highway Techno		Choice Promotion		King Tech Indust	
			316 Paterson Pla		415 N. Mckinley		4901 Morena Blv	
			Carlstadt, NJ 070 201-531-9200	Garry Westerweller	Little Rock, AR 7. 501-666-9499 Lc		San Diego, CA 9 858-646-0700 Hs	
		ALL OR NONE:		XXX		XXX		XXX
		BIDDING:						
ITEM NO.	QTY.		UNIT	EXTENSION	UNIT	EXTENSION	UNIT	EXTENSION
1.	25	Small	6.60	165.00	6.71	167.75	6.60	165.00
2.	25	Medium	6.60	165.00	6.71	167.75	6.85	171.25
3.	25	Large	6.60	165.00	6.71	167.75	7.10	177.50
4.	25	X-Large	6.60	165.00	6.71	167.75	7.30	182.50
5.	25	XX-Large	6.60	165.00	6.71	167.75	7.45	186.25
6.	25	XXX-Large	6.92	173.00	7.04	176.00	7.70	192.50
7.	25	XXXX-Large	6.92	173.00	7.04	176.00	7.85	196.25
	I	TOTAL:		1,171.00		1,190.75		1,271.25

AWARDED BY:	DATE:	CA	RD: 10-03
AWARDED TO:	ITEM(S):		
	ITEM(S):		

		AR	KANSAS STATE I	HIGHWAY AND TRA TABULATI		DEPARTMENT		
		DESCRIPTION:		TABULATI			Fo	rm P-359 Rev. 6-23-2008
Supply Con	tract fo	r furnishing Adopt-A-Highwa	y Safety Vest	BID NO.:	H-12-007P	I	DATE OPENED:	8/2/2011
from Date c	of Awar	d thru June 30, 2012, with ar	n option to					
renew.		· · ·	•	FOB.	Sta	tewide	PAGE.	3 of 4
	/ERY:	within 45 days ARO					-	
			Rock City Safety 1040 Pat's Lane Conway, AR 7203 479-409-6065 N	32	Lightle Enterprises of Ohio, LLC P. O. Box 329 Frankfort, OH 45628 740-998-5363 David Lightle		Arkansas Lighthouse for the Blind 6818 Murray St. Little Rock, AR 72209 501-565-2222 Kristie Olson	
		ALL OR NONE:	)	XXX		XX	)	(XX
		BIDDING:						
ITEM NO.	QTY.	DESCRIPTION	UNIT	EXTENSION	UNIT	EXTENSION	UNIT	EXTENSION
1.	25	Small	7.43	185.75	8.24	206.00	11.91	297.79
2.	25	Medium	7.43	185.75	8.24	206.00	11.91	297.79
3.	25	Large	7.43	185.75	8.24	206.00	11.91	297.79
4.	25	X-Large	7.43	185.75	8.24	206.00	12.63	315.82
5.	25	XX-Large	7.43	185.75	8.24	206.00	12.63	315.82
6.	25	XXX-Large	7.79	194.75	8.24	206.00	13.19	329.82
7.	25	XXXX-Large	7.79	194.75	8.24	206.00	13.19	329.82
L								
				4 040 05		4 440 00		0.404.05
		TOTAL:		1,318.25		1,442.00		2,184.65

AWARDED BY:	DATE:	CARD:	10-03
AWARDED TO:	ITEM(S):		
	ITEM(S):		

## ARKANSAS STATE HIGHWAY AND TRANSPORTATION DEPARTMENT TABULATION

DESCRIPTION: Form P-359 Rev. 6-23-2008 BID NO.: H-12-007P Supply Contract for furnishing Adopt-A-Highway Safety Vest DATE OPENED: 8/2/2011 from Date of Award thru June 30, 2012, with an option to FOB: Statewide PAGE: 4 of 4 renew. DELIVERY: within 45 days ARO S.M.I.L.E.S. Eldredge Trading Inc. 3435 South Zero 1385 Mendota Heights Rd.Ste 100D St. Paul, MN 55120 Ft. Smith, AR 72908 479-452-2833 Matt Lamora 888-976-8500 Daniel J. Eldredge XXX XXX ALL OR NONE: BIDDING: **REJECTED- NO BID BOND** DESCRIPTION EXTENSION ITEM NO. QTY. UNIT UNIT EXTENSION UNIT EXTENSION 25 Small 18.95 1. 473.75 2. 25 Medium 18.95 473.75 25 Large 3. 18.95 473.75 25 X-Large 18.95 473.75 4. 25 XX-Large 5. 18.95 473.75 25 XXX-Large 18.95 473.75 6. 25 XXXX-Large 7. 18.95 473.75 TOTAL: 3,316.25

AWARDED BY:

DATE: \_\_\_\_

CARD: 10-03

AWARDED TO: \_\_\_\_\_

ITEM(S):

ITEM(S):